FrBARREIIN1 [ HEB R B 555k
JUia e



RE REEHIRHSFITHBENES

12N,

4T

RE S

IEELBIRRELY = x5,
CFR=, AB L x3F=B.CD 1 x%H

)

—

O HEFRA 2
YA
A

D_J0|

-

B

C

>
X

REBIREY = HESHERTA,

JL

JIfZABC DRI



[=i%]

XX

HIRIFRIEAIE.A, CR-

-JR

FOYIFR.~ 0A = OC. - AB 1 x4H.CD 1 x4H],
~ LABO = 2CDO =90° .X

-+ ZAOB = 2COD, . NABO<X/\CDO,
~ OB = 0D.-.

JUIFZ

ABCD7ZE>

%DSZSAOB

D_©

C

AT PUIARZ. Bz EEAB R ERRIEE ) R EUR YT LR,

1

2’

. PHATABCDRIER4 x 5 = 2.



2308, EFEERMIRERX0yT.00ABCHIAOCTESH L,
XIFLEAC.0BRTF M, EHly = - (x > 0)IERET =
A(3HFIEM.

e 2

M

VA




(1) XEkEYEFRMAJALTR:

[#7] + RAGHERSY == (x > )i

5L,
s kE=3"%4 =1£.
2 PQIBAZ0ABCE2ATI9AHZ,

—

» AM = MC,ZH] ﬁM HIZAARTR 2.

: RMEREY = —(x > 0)HIE
+ M(6,2).

—

5L,

IR




(2) KOOABCHIREHK.
+ AM = MC,A(3,4).M(6,2),

%~ C(9,0),0A=V32+42=5..-.0C=9,

~ CJOOABCHIEEH2 x (5 + 9) = 28.

D:/_’
<
A

e ¥




K8 REEFIRBSERNES
3. W& 5B2ABCDRIFRIAAB, BCRYI< 2 B9 &

38, COTEYHLE, FRADNHRE, RHAIR ‘;f/

By == (k # 0,x < ONBERETRE, 5BC

X+ /=F.BHCF - BE =1.
(1) KRECHIRZEHIFRIAT;

=Y



(%] ~ EXERZABCDE

ADBYH S

ALY

~ DE = AE = 4.

.. BE =VAB? + AE? = 5.
> CF — BE =1... CF = 6.

8 AERIA
< E, FRARISTERIZEY = * (x < 0)f

h, AD = BC = 8,E

52

——

AE/

o

AR I3 (—4, a) N RFAIAERAI(—6,a — 3).

RE,




+—4a=—6(a—3), f#Sa=09. E(—49).
~ k= (—4) x 9 =—36.
+ REBIESHRER Y =— 2 (x < 0).

Ay
g/




(2) TEy3EH—RPAEES A opp = = Sepancos KULAHSP
AYALTR.

A
e |

Q
e



e al=9,T(d6) / B
S;E%ABCDzz 3 x 8 = 24, A—F—P
SAcep = E'S;ﬁ”?ABCD’ bl
.'.SACEPZEXZ4:16. o
0 X

IR PHIALTRI(0,m),

“PC=16—ml|. o Spppp=5%6—m| x4=16

~m = 148¢m =— 2.

~ FRAPHIAAFR/9(0,14)8)(0, — 2).




DL ENADONASOE IR T8I, AR RIERBN —PNE. WETRBAREI, F
i: https://d.book118.com/638047011040007007



https://d.book118.com/638047011040007007

